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EET | FEL %k
T i m2 0. 080 - 0.273 0.35
B )e=trs MWV
., d=50mm m3 0.004 - 0.014 | 0.018 |mARFER
i 18 T
(EETHE
[N m3 0. 004 - 0.014 0.02
a7 ) — bk
#EE y=2.35t/m3 t 0. 009 - 0.033 0. 04
I T 7an7 E;E‘(SM:%‘“I“ m - 0.25 - 0.25
AR T —
=T HE 1. 6kg/m kg - 0.39 - 0.39
S T T AT 7 Mz t=15cm m - - 12.7 12.7
Al IR T AT 7 M t=15cm m2 - - 53.8 53.8
i
7 B T AT 7 v Nk m3 - - 3.2 3.2
T
LSy T AT 7 Nk t - - 7.6 7.6
Rk T LT — bR m2 - - 53.8 53.8
R H ikt _ _
H T b=30mm, t=5mn m 31.5 31.5
FL—kt EKE ¢ 12 m - - 23.0 23.0 |[x7verrvvammant
, T AT 7L Nk
Ak — —
bt T S8 t=60mn m2 53.8 53.8
DX 1 FEH - B - 15em m - - 18.8 18.8
S % s A B /N5 (BT200FH ) +H 3 - - 3
FGaR
R EB AH 16 - - 16
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1. WrmEfEE T - W e (ESSI/RFSS 50 mm
(EELE) FUEM  fm (2ol g
D-1 A= 005 X 0.05 0.003 RAEE
D-2 A= 005 X 0.05 0.003 RAEE
D-3 A= 005 X 0.05 0.003 RAEE
D-4 A= 005 X 0.05 0.003 RAEE
D-5 A= 005 X 0.05 0.003 RAEE
D-6 A= 005 X 0.05 0.003 FRAEE
D-7 A= 005 X 0.05 0.003 FRAEE
D-8 A= 0.0 X 0. 05 0. 003 FRAEE
INE 0.024
R MT T (£ 02) KR
D-1 A= 0.15 X 0.20 0. 030 FRAEE
D-2 A= 0,10 X 0. 50 0. 050 FRAEE
/NEE 0. 080
HIEM  fEm (T 03) HiE
D-1 A= 0.05 X 0.05 0.003 RAEE
D-2 A= 010 X 0.10 0.010 FRAEE
D-3 A= 005 X 0.10 0. 005 FRAEE
D-4 A= 005 X 0.10 0. 005 FRAEE
D-5 A= 0156 X 0.15 0. 023 RAEE
D-6 A= 005 X 0.10 0. 005 RAEE
D-7 A= 005 X 0.05 0.003 RAEE
D-8 A= 010 X 0.10 0.010 D&
D-9 A= 010 X 0.15 0.015 &
D-10 A= 010 X 0.15 0.015 D&
D-11 A= 010 X 0.15 0.015 D&
D-12 A= 010 X 0.10 0.010 D&
D-13 A= 005 X 0.10 0. 005 D&
D-14 A= 0156 X 0.20 0. 030 D&
D-15 A= 010 X 0.20 0.020 D&
D-16 A= 010 X 0.10 0.010 D&
D-17 A= 010 X 0.15 0.015 D&
D-18 A= 010 X 0.20 0.020 &
D-19 A= 010 X 0.20 0.020 HIpE
D-20 A= 0,05 X 0. 20 0.010 Vi
INE 0.249
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IFoOVEEE 50 mm
et
O MI Rl (ZO22D R A = 0,080
& Ft A = 0.080 m2 0.080 m2
IFoO0EE 50 mm
L
WIRE BE (FoDME A = 0.024
FE3XM KB (ZD3) M A 0. 249
& & A = 0.273m2 0.273 m2
WrEfEEM (R ~—%X hEALHZL)
Wi Lmfg  E¥T = 0.080 m2
it T i F BE = 0273m
ESONIRY I = 50 mm
W & 1E A S
ET OV = 0.080 X 0.05 = 0.004 0.004 m3
BE V= 0273 X 0.05 = 0.014 0.014 m3
2. a7 U—Fh e g
IR TV 0. 004
®E V= 0014
3. a7 U—Fh WEEE
R VER ERINT
av 7 Y — FOHATEERE = 2.35t/m3
I W = 0.004 X 2.35 0. 009 0.009 t
BE W= 0.014 X 2.35 0.033 0.033 t
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L. Al G0 T « TAZ 7V Mt 15enPl T
L = 6. 340 + 6. 340 12.7  m 12.7m
2. BHEERRAERE T |« 7 AT 7L Ml 15embl
5. 720 X 9. 400 53. 77
53.77  m2 53.77 m2
St T A7V bk BHEE t=60mm (A87E)
v o= 53.77 X 0.06 3.23  m3 3.23 m3
RISy « T AT 7V R
W= 3.23 X 2.35 t/m3 7.59 t 7.59 t
FEm bk o
— N R Y B A = 5. 720 X 9. 400 53.77  m2 53. 77 m2
HH T « AZ H HiA4 b=30mm t=5mm
L = ( 6.34 9.4 31.5 m 31.5m
KL —4 <K $12(A TN T Ay v a &R
L = 6.23 X 2 4+ 9.29
+ 0.15 + 0.15 22.95 m 22.95m
LT T AT 7 v ML
E3= t=60mm
BRIFE (200 7 TA La—b
5. 720 X 9. 400 53.77
53.77  m2 53. 77 m2
KR T - FEHR/ B/ 15em
L = 9.40  + 9. 40 18.8 m 18.8 m
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L. 3Kk - IR (L) %y 2 —
L = 0.245 = 0.245 nm 0.25m
2. WL EE C Wk T A EER (Y on L T AMEE) HE 1 6ke/n
L = 0.25 1. 60 = 0.39 kg 0.39 kg
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2 A X 8 H = 16 16 AH






